Ma PC1A CT1

(1) der = 2fx - 3ln (x+2)

(a) D), = [0(4-00[ N ]'1I*oo[ < [0/4—"0[ = ’R+

¥
(b)  liwm  fexy =}ty = =3 (2)
x—= ot
?a(‘ goui':h\)'l\'ef
i %Cm‘) = ["'°° “°°] FI
e 3ln Cx+2)
+2
- \iw\ \]-)c_ r - n X > = 4 o0
WD + & ( \[;-
, 3w (x+2) _ (=
Cavr \(w\ = lIV\A ( = o
K= 4 o0 \[;- /[ x4+ 2
H:’)‘fihl
( 1
€) Sex)= —— -3
rx— X+ 2

maximuw local en X = 4

wminiwmuw locol en x = ¢



(2)
(a) J-—J’*—J’x =“—‘—- + C

(x-1)? Xx-1
b S k Lo '
(\ xlo dx _i x-—l| _;. [, lx+|] + ¢
1
CC) d x = arctan (x) 4 ¢
2+
-4 1
i ~d
(3) 7 Sh% dt - J = a(C‘PGV\"j
(a) : S -1
o N 4+ tof ¢t T 1
cost =y ws 0 = 1
—simt dt = dy cor7t = -1
T,
n x x
(L) L (os (x) dx = e wrx 4+ |2 sinx dx=<
)
e 4 n
T 24 Wy n 2 Siw % —'S,z tos 2 &
S '7\'/2 X \ x A .—x/z
J 2 to§ () dx = ~ ] 2 (oS %x * £ finx
o 2 5
1 g (
= ., _
9

’
(4\ 3(1) = arcl-oV\BCx\



(5) hews B I yt ey 0(3‘*) =
1-(x—x?'+7_xg)

1"

~ V
‘v 3
2 9 2 Q2 q
= 1 4+ 2x-x “‘Z‘x%+(1—x+2'xx) +(x—y.+'zx\) + O(x )
2 (R P ]
T 4 4% -x -‘?.x's-*x_ ~ 2%+ % —‘O(xd')

= g 4x o+ x + 0O(xt)

4 3
(6)  cos(x1* txgm(x) - 4 :/7?/4(;—!*%(/—%>+0ng)

() —
A

24
2
® v 4 s
e = 4 +x + X £+ O0(x)
2
( _4 6
tos (%) + X Swmlxy -4 \ = x 1007 :
. ) = | s - =
v b i T ¢ lz
N X7 4 0(x%)



